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Shear stress 7
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~_ A dam 1s to be constructed across the Wabash River using the cross section shown.
For water height H = 2.5 m, calculate the magnitude and line of action of the vertical
force of water on the dam face. Assume the dam width is w =50 m.
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= A vane/slider assembly moves under the influence of a liquid jet as shown. The
coefficient of kinetic friction for motion of the slider along the surface 1s w; =
0.30. Calculate (a) the acceleration of the shider at the instant when U = 10 m/s and

26% (b) the terminal speed of the slider.

| A p = 999 kg/m3 _
S -
V = 20 m/s |
| ——

A = (0.005 m?

7

T SRWETIE T AL B e TR YN
§m FL VT T WL TR A e il T D

M = 30 kg up = 0.30
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